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SECTION I : GENERAL APTITUDE

1. Inahypothetical system if 10 -3 =12,12-4=13, 14 -5 = 14, then 16-6 =?
Ueh BIeUfid AARAT R ARG 10-3=12,12-4=13,14-5=14, a9 16-6 =?
A) 10 B) 15 O) 16 D) 19

2. Fill in the blanks in the following series
fYaret T i gfd B
1,8,17,30, ........ , 76
A) 39 B) 49 C) 59 D) 19

3. Hema was twice as old as Geeta, 10 years ago. How old is Geeta today, if Hema will
be 40 years old, 10 years henceforth?
%0 g ugaY, &A1 Mar ¥ Aol 9t & 1af 10 o 1, BT 40 o Y gt @Y it Bt adHE 3wy T
Bt 2
A) 15 B) 20 C)25 D) 35

4. In a code language FORGE is written as FPTJI, how should CULPRIT be written in
the same code:
U Hihfdd HTST# FORGE @I FPTJI feiaT g31T § df CULPRIT &Y 39 WIWT # % feram Smgem -
A) CVNSVNZ B) CSINPGR
C) CVMQSTU D) CXOSULW

5. Inarow of 45 persons, Mahesh is standing a position such that only three persons are

ahead of him. He allows two persons that are behind him to come ahead of him. What
is the position of Mahesh from behind now:

2l TP 45 Afial P Ufdrd ¥ 3T UbR WeT &, P e 3 Afdd 39 3M G T 198  Afdd) oY bl
Ufed § 39P WIS @ & 3¢ 3799 30T & <aT &1 376 g2l &Y fRAf 9o & 59 A d@am i it

A) 39 B) 40 C) 41 D) 42

SPACE FOR ROUGH WORK
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6.

10.

Fill in the blanks
e ey Y g B
ADHM : ZWSN :: CFJO: ........

A) YVRM B) WTPK C) XUQL D) ZXVT

From 7 to 11 am, it rained 2.25 inches. At 11 am, the rain increased to fall at a rate of
1.25 inches every two hours. How many inches of rain landed on the ground by 5 pm?

ard: 7 & 11 % i 2.25 $9 auf g$1 11 99 &b qedeara auf Bt Afq 1.25 $9 9fd 2 # W WR 5 96
&l febat auf g it gnit?

A)7 B)9.75 Q)6 D) 7.125

A storeowner is packing small radios into larger boxes that measure 25inch X 42inch
X 16inch if the measurement of each radio is 7inch X 6inch X 5inch.Then maximum
number of radios, that can be placed in the box are :

T GHTER BIC SR fAHPBTHGH 789 X 65T X 559 8, BN 25T X 425 X 16 59 93 AIso
F @l § HIAT 8198 Tl 3l H 3feiepan fbaa 1N U {6y o1 Jahd 82

A) 75 B) 100 ) 80 D) 72

Frank is 15 years younger than John. In 5 years John will be twice as old as Frank.
How old will Frank be in 4 years?

Wi , STi9 & 15 | BT §15 a¥ 918, S, Wi A QAT 98T N1 4 I 915, Wids Y 311 &7 gHT?
A)8 B) 10 C) 12 D) 14

A shopkeeper decided to raise the price of a particular item by exactly 10%. Of the
following which is not the new price?

T gPTER febeit a¥g < iAd fAfeerd 10 % | qerT aTedr & 1370 A B A1 fasbeq Tt Hiwd T2
& AHdl--

A) 8.80 B) 11.00 C) 57.30 D) 78.10

SPACE FOR ROUGH WORK
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11. A drunken man walks taking three steps forward and two steps backward each time.
A well is situated 13 steps away from him, how many steps will it take him to fall into
the well?
T 2RTE AR, TAd HHY , 3 HEH 31T dea 2 HeH IS id §U 30T ggdT 81 38 13 HH b gHt
W TP H31T R &, fba shed A W a8 $¢ ¥ iR qepar &
A) 57 B) 65
C) 62 D) None of these

12. Pointing to a photograph of a boy, Suresh says, “He is the son of the only son of my
mother”. How is Suresh related to that boy?
TS AR Bl AR SART A §Y G2 BEaT & P - Tg B AT % Theltd T BT I 87 | A 3 AP
A HA gwifea € -
A) COUSIN (@=RrT ¥TE) B) UNCLE (aram)
C) BROTHER (& HE) D) FATHER (féan)

13. It was Sunday on January 1,2006. What was the day of the week on January 1,2010?
3R 1 Sadl, 2006 Y ITAR 2T, dY 1 STFat 2010 B B 97 &7 21?2
A) Sunday RfdaR) B) Saturday (2rffaR)
C) Friday(3[spar) D) Wednesday (guaR)

14. Find the odd one out:
3T ST B AT B

3,5,11,14,17,21

A) 21 B) 17 C) 14 D)3

15. At what time between 7 & 8 O’clock the hands of a clock will be in the same straight

line, but not coincide together:

A) 5 min past 7 B) 512—1 min past 7
©) 513—1 min past 7 D) 5% min past 7
7 q 8 9 & dtul, B Y HY Ygal Teb At YaT A i, wig v Aoy T
A) 7 54 5 fie B) 7 getaR 5= fAe
C)7Ts|\_r|?b_\’5%fﬁ=|€ D) 7 TR 5%11‘1?6

SPACE FOR ROUGH WORK
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SECTION II : PHYSICS

16. A block of mass M= 10 Kg is placed on a rough floor. Coefficient of friction, u
between block and floor is 0.5. An external horizontal force F = 20 N is applied. If
maximum friction between two surfaces can be "u x Normal Reaction”, find out force
of friction between floor and the block.

T 10 Kg SV $I a¥g B Y5t g8 § | wef 31k avg & e avfor &1 7o (1) 0.5 % | T 20 N
T e I I TR 7 &1 § | 3R QY Ad) F i rfipan vt a6 "y x Mfied 9e 7, 8 Fobat §
al a¥g 3R wef & d aior 9 FTa & |
10kg F =20N
u=0.5 —>
A) 50N B)25N C)20N D) ION

17. Two resistors R and 2R are connected in series in an electric circuit. Themal power
developed in

A) R is more

B) 2R is more

C) Same in both R and 2R

D) It will depend on the Voltage supplied
QA UfR1 R 31R R P T fagga wfbe ¥ dRw ¥ sher ma1 § | a9 St

A) R W ITET 2N

B) 2R ¥ wTET BN

C) R 3iR 2R Q41 & 9w B

D) #Y T¢ dees WR fiR s

18. A force produces an acceleration of 1 m/s* when acts on a body A. When the same

force acts on another body B, it produces acceleration of 5 m/s*. Find Ma /Mg
T g, T a¥g A TR oY ST & 1 m/s” @ROT WeH $IAT & | T&1 91 a¥g B W & F 5 m/s” @ROT
& HIAT &1 M, /M ATd BY

SPACE FOR ROUGH WORK
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A) 0.04 B) 0.2 OS5 D) 25
19. Suppose the earth shrinks such that its radius decreases to half of the present value
(assume mass remains the same). What will be the acceleration due to gravity on the
surface of the earth
A o B 3R gedt HY Hvar adwr F 3mit g Srd &, (gedt F1 gawE B FHE AFd gY) af gedt
I Hag W TSI )01 T B2
A) 10 m/s? C) 5 m/s* C) 20 m/s” D) 40 m/s*
20. Two balls of unequal masses are released from top of a tower simultaneously at the
same time. At any instant, they will have equal
A) Momentum B) Potential Energy
C) Kinetic Energy D) None of these
Y MY fSH®T SeaH™ 31T 316 &, &Y U eI’ A U 91l BisT TaTl fhdt Iug wR SFY &1 a1
HHE BT
A) Ham B) fRaIfat et
C) wfast ot D) 78 | PIg T&l
21. Consider following velocity-time graph
a1 (Velocity) - I7d (Time) UT% WR fadaR &Y
Velocity

Time

Choose the correct option

SPACE FOR ROUGH WORK



SET A page 6

A) B has more acceleration than A

B) Magnitude of acceleration of B is more than A

C) Both have same acceleration

D) Cannot be predicted from the above plot as masses of A and B are not given

A) B T ®RUT A J SIT&T §

B) B % w@RUT &I URHATT A A TaTaT &

C) QT BT RO WA §

D) dft A 31 B &7 geaw T8l f&an man &, gafay fspd TE e o1 webar €

22. The specific heat capacity of an object depends on its

A) Mass B) Volume

C) Material D) Heat given to the object
T a3 i fafere 3wt urlkar few St W R wvar g 2

A) GIHH B) 3IdA

C) [t D) f&g g 3=

23. An object is placed in front of a plane mirror. If mirror starts moving towards the
object with a speed of 5 m/s. With what speed the image will move towards the

object?

T HHA SUUT &% ATHA U a¥g 78T § § | 3R qUUT a¥g BT 3R 5 m/s A T @ a wfafers &1
] b ATIE <ATe AT BITIT ?

A) 0 m/s B) 2.5 m/s C)5m/s D) 10 m/s

24. Which of the following forms a virtual and erect image for all positions of the object

7 4 @ 311 ot i fRAIfa W avg &1 3mait vd o afdfora & amar g

A) Convex Lens B) Concave Lens
C) Concave Mirror D) None of these
A) 3@ @9 B) 31ddd @i

C) 3radet YT D) g% I BIE &

SPACE FOR ROUGH WORK
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25. Two wires A and B of same material and mass have their lengths in the ratio of 1: 2. If
resistance of A is R, Resistance of B is
QY dRY A 3R B fSTaT geam™ IHM 2 92 U & Arnit HY g1 g5 § | 37! @drga) &1 3qurd 1: 2
&1 3R A &1 9fa_ry R & @Y B &1 wfaRry g
A)R/4 B) R/2 O R D) 4R

26. Choose the correct statement
A) Ammeter should have low resistance
B) Voltmeter should have low resistance
C) Voltmeter is connected in series
D) Ammeter is connected in parallel

e fawea g

A) THIER BT HfaRTY agd BT ST A1y
B) dieewiex BT WfeRkIY dagd BI T a1eq
C) dceHieR PI fAS A Sireat a1fgq

D) THiex Y WHMIaR & SilgT =iey

27. In the diagram shown If V=10 V, find the current (i) in the circuit
f&q g ST # 3R V=10 V 8 a faga uRT (i) &1 94 A1d B

1Q 10 20
A AV
Vv @ 120§ 4Q§ §1OQ 80
A)10/3 A B) 10 A O I5A D)20 A

SPACE FOR ROUGH WORK
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28. Two plane mirrors are inclined to each other at 90°. A ray of light is incident on one
mirror and after reflection falls on second mirror. The ray will undergo a total
deviation of

A) 180° B) 90°
C) 45° D) Will depend on incident angle

QY HHAde <YoT % el BT PIoT 90°F | Y 0T vgel quor W 3mafdd gt § 3R wradT F a1 g
R iRl &1 12! &Y fBv01 1 Fed faaed et

A) 180° B) 90°
C) 45° D) 319 107 W fflk sy

29. A U-shaped wire of total length 30 cm is placed in front of a concave mirror of radius
of curvature 20 cm as shown in the figure. Find the total length of the image.

T& U 31N & dR, foiad! o @wimg 30 cm &, 1 g6 20 cm F Iepal B fHsdr aret 3/add g4l &
AT T T ¥ wfafa B ol s aarg

10¢m

b= 10cm + 30em

A)5cm B) 10 cm C)20 cm D) 30 cm

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

Find the distance of an object from a convex lens if image is two times magnified and
is erect. Focal length of the lens is 10 cm.

3R Bl avg F1 30 o9 A AT Ud i wfafar a=ar & af gdor & fawr &) g@ Ama &Y | a9 &1
BIHE g 10 cm B |

A)5cm B) 10 cm C)15cm D) 20 cm

For normal eye least distance of distinct vision is
T | 31T & folq e 3@A & JaaH gt fasa gidt & 2
A) 25 cm B) 50 cm C) 100 cm D) 0 cm

A fish is at a depth H below water surface. The fish appears to be at a depth h to a
bird flying exactly above it.
Choose the correct option

A) h<H B) h=H C) h>H D) None of these

T HOe! U & H TeTE W § | T Yeht ot 76d & 31 HUX 38 Y61 &, B 786l h Tes W udid aiat
21 9E famer

A) h<H B) h=H C) h>H D) 34 ¥ B T&

Which of the following statement is INCORRECT
A) Electric Motor converts electrical energy into mechanical energy
B) Electric generator coverts kinetic energy into mechanical energy
C) Electric generator is based on electromagnetic induction
D) None of these
fAddeR T FAT@d ? |
A) TAfRE AR fiega Haf 1 dfie Faf ¥ aecar &
B) SolfaRed e TIfdoT FHoll Y Al Holl A deoldl &
C) SAfded SR Sdgicd $5aRM & Agid U W HIar &
D) T A PIS &N

SPACE FOR ROUGH WORK
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34. A proton is moving along Z-axis in a magnetic field. The magnetic field is along X-
axis. The proton will experience a force along:
TS HIEH Z-axis PI fE § & a0 MfaHME § | AT Hies X-axis B &M A § | eiq W fow feem
H et o1 2
A) X-axis B) Y-axis
C) Z-axis D) No force will act

35. A person travelling on a straight line moves with a uniform speed v, for a distance x

and with uniform speed v, for next equal distance. The average speed of the man is ---

T Sfed TR ¥@T W X G v, Td & 1Y 7 Pt g 3R B 3007e1 x g v, T P |1 0 Hem &

A)(vitvy)/2 B) (vit+v2)
C)2viva/ (vitvy) D) vivy/ (vi+ )

SPACE FOR ROUGH WORK
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SECTION III : MATHEMATICS

36. AB is a tangent to the smaller circle and a chord to the larger circle. Both the circles
are concentric to each other. If AB = 10 units, then the area between the two circles is

AB B ga Y Yo 2R ¢ 31 92 gd P Silar &,3fE AB BT AH 20 3HTS ¢ @ QA1 gl b i Br

SABEA T BT 2 (T gl BT g THM §)
A B
©\
A) 10m B) 15n C) 20n D) 251

37. Find the radius of the circle given in the figure below. Given tangent AB= 4 units, AC
= 2 units and line ACD passes through the centre of the circle.

i fEy 7y ga & s FATd HIY, 3R WRET AB Bl TS 8 SBTE T AC Bl 2 gbrs & 3R Yar
ACD gd & g 9§ g1 STt & af -

P

A)3 B) 4 )5 D)6

38. The sum of the series up to 2n terms is given by
T ey mit srveafeRy T Sitg *n 9&T a6 14 Hifelg
V(1P+1) + 1/(2%42) + 1/(3%43) + 1/(4*+4) + ........

SPACE FOR ROUGH WORK
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A) n/(2n+2) B) 2n/(2n+1) C) n/(2n+1) D) n/(n+1)

39. The second term of an AP is -6 and the sixth term is 6. Find the sum of its 4™ term to

13" term.
Ife g mTfvifaa wiTfd &1 GERT U% -6 § 31K BT Ug & § ) 39 91d ug A Aax died UG &1 Sig
A) 132 B) 135 C) 138 D) 142

40. The perimeter of the figure below formed with vertical and horizontal lines is

Y & it 3l Y B W v AT Yamait A o 2, s ARk S B

10m = |

I5m

A) 150m B) 50 m C) 75m D) 60m

41. \(7+2710) is equal to
N(7+2V10) &1 71 8n -

A) V5 +1\2 B) V3 +V4 C)N10-V3 D) V3+2 +45

42. If x units are added to the length of radius of circle, what is the no. of units by which
the circumference of the circle increases.

afe ga Y i ¥ x Sire FaT ST A ga B RIY feert gTEat @ 96 STt

A) x B)2 C) 2mx D) 2n

SPACE FOR ROUGH WORK
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44,

43. The two lines ax+by+c=0 and ax+cy+b+d =0 are parallel. Then which may be true?

IfE T@IT ax+by+c=0Td ax-+cy+b+d =0 THMIAR § A TH & BIT AT 927 A § ——---
A) b%-c* =0 B) a-b=c C) a=b D) None of these

[ N

7 J

The hollow cylinder shown above has inner radius 7 units and thickness @ units as well.
The length of the cylinder is 10x units. If the cylinder is cut into equal halves along the
line AB, then the total surface area of resulting solids is
FW AT T G 977 $1 Wiad Bsar « § 7d 712 1 31 967 B awITs 2o 7 81 AfE ST B ¥ET AB &6
FAMIR Q1 SRIER ¥ § H1e a1 oY df el Wag & &1 7H T -

A) 66m°+401° B) 66’ C) 33n°+20m D) 667 - 40n

45. Consider the equations and choose the correct option.
-3x+y+2=0
x-y+2=0
2x+y-8=0
SR T T FHIHON &6 Ty W 9% J BT 9T 949 I -
A) The equations represent three concurrent lines (AHYRoT THA @31 BT G2ATd §)
B) Two out of three lines are perpendicular to each other (7% ¥ PIE & @I &Y & )
C) The equations have no solution (FHIHUN HT BIE & 8l &)

D) There are infinite solutions to the equations (FHIHIUN & FHH A § )

SPACE FOR ROUGH WORK
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46. Jasmine can row downstream 20kms in 2 hours and upstream 4 km in 2 hours. If
her speed of rowing in still water is x units and the speed of current is y units,

then the value of x+y is
ST 98T & G2 ¥ 2 e ¥ 20 km &R Hepdl § a8t 981 &b Ioet fGem A R g A 8 km g R

Febdl 1 afE ggra B Ifd y gh1S E i fRR AR A SRafla S dRA B fd xsPE T AT x +y B

A) 8 B) 10 Q) 12 D) 14

47. If x*-5x+6 =0 has p and q as its roots, then p°+q° is equal to
afe p 3R q FHIHIOT x7-5x+6 =0, B q@A & al, p°+q° BT A ENTT----
A) 693 B) 963 C) 369 D) 793

48. If a and b are irrational numbers, then a’ is
IfE a Td b 39T AT &Y a® &
A) Always irrational (ga2m 3raf¥#g gnfh)
B) Always rational (g%2m uRR# gn)
C) Can be rational or irrational (afR%=r a1 39R% &1 Thdl & )
D) Can only be rational if a is V2 (afR¥a @t €ft &7 a &1 71 2 B

49. The graph of a polynomial P(x) touches the x axis at 2 distinct points and
intersects the x axis at 3 distinct points. The total no. of distinct roots of P(x)=0 are
Ife ague P(X) BT UTH X -37&f P QY ST BT § d o9 ST HredT & dl P(x)=0 P Hel fba
L

A) 2 B)3 C) s D)6

50. Consider the following parallelogram ABCD.
I T 77 HEIER TGS ABCD & HRiY § I A1 fadbed T8 § -

SPACE FOR ROUGH WORK
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D c
Which of the following is true?
A) Area (QTSD) = Area (APQ) + Area (PTRB) + Area (SRC)

B) Area (QTSD) = Area (PQT) + Area (RST) + Area (AQD)
C) Area (QTSD) = Area (AQD) + Area (AQP) + Area (SRC)
D) None of these (378 & ®I &)

51. In an equilateral triangle ABC, D is a point on side BC such that BD= (1/3) BC.
Then
HRIST fIuT ABC #, Y<IT BC WX D U foig & arfes BD=(2/3)BC & df -

A) 9AD>=7AB’

B) 7AD’=9AB’

C) 4AD’=9AB’

D) 9AD” = 4AB’

52. sec x —tanx is equivalent to
sec X — tanx ERTER & ------

A) 1/(secx + tanx)

B) 1/(cosx + tanx)

C) 1/( secx + cotx)

D) 1/(cosx + cotx)

53. A jar contains 20 red candies and some blue candies and green candies. If number
of blue candies are double the number of green candies and probability of taking
out a blue candy is 1/2, the probability of getting a green candy is

SPACE FOR ROUGH WORK
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T&h SR A R0 WA B8l , B Alcil del Ud & Bel §130R Al Bet I &A1 & B q Qi §
3R et HEt B SR A BT B IRITEET 2/R & A &1t B8l fAbrer & InITaEr = gt -
A) 1/2 B) 1/3 C) 1/4 D) 1/5

54. The shadow of a tower standing on a level ground is found to be 40m longer when
the sun’s altitude is 30 degree than when it is 60 degree. Then the height of the
tower is

A BT 37T BIVT 30° T W HAR P FHA W U aTell WOTE Pl AHITE , 37T BIT &0° W
T aTel} IRBTE A o Hiex T &, al MR &t Ferg gnft —
A)203m B)20V2m C€)30\2m D)30\V3m

55. Which of the following is correct representation of central tendency?
T A B T fawew e ufafaay & suge wwy & geufdar & —

A) 3 Mean #|1ed) = Mode (9ge) + 2 Median (AT )

B) 3 Median (qTea% ) = Mode (9gi®) + 2 mean (HTeN)

C) 3 Mean (arem) = 2 Mode (dgeie) + Median (WTedes )

D) 3 median (|Teg®) = 2 Mode(dgd®) + Mean (dTe)

SPACE FOR ROUGH WORK
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SECTION IV : CHEMISTRY

56. Which of the following is NOT a crystalline allotrope of carbon?

A) Diamond B) Fullerene
C) Coal D) Graphite
Y q B U 1 B et 3raRouar T8 82

A)ERT B) Jertd

C) BT D) UhIse

57. Which of the following statement is CORRECT?

A) Soaps can ONLY work in soft water whereas Detergents can ONLY work in hard
water.

B) Carbon is the ONLY element in Periodic Table, which shows ‘Catenation’

C) Functional Groups like Aldehydes, Ketones, Carboxylic acids, Ethers & Acid

o}

anhydride —ALL contain a carbonyl group ( >: ).

D) Aldehydes on mild oxidation give carboxylic acid and on heating with strong
oxidizing agent give CO, gas.

= ¥ Y Pl s W 2

A) AT B 7 U § BTH B HEd § STad [Seoie Pad @R UHT # BT B THd 8

B) BTe 31Tad IRUN A YhHE dcd &, S ' Sf@a famar 2

C) TeeeIesd, b, Fraifaeifad s, $or 3R tfis weeges I srfes I ¥ e

e gg (/) S
D) &P TRAHUT WX TeIsSIgrgs Preifaoiieid UfHS &d & 3R Aolga 3iferfleor Tole & |1 a1d R
Co, 1

58. Assertion A: An electron in the inner orbit is more tightly bound to the nucleus.
Reason B: The greater the electrostatic force of attraction of an electron, the more

tightly the electron is bound to the nucleus.

A) Both A & B are correct and B is correct reason for A.

B) Both A & B are correct but B is not appropriate reason for A.

C) A is correct but B is not correct.
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D) Both A and B are not correct.

3B A : 3TARe Bl BT g, TS J 31T Tetgdt ¥ FuT €T &)

PRI B: Solagid &I RRfAga 3MdHor 9a  (electrostatic force of attraction ) &T #1F fofaAT
3feres BaT & 3aAT1 €1 Awigelt A 9 A1 A JuT IEaT &

A)A 3R B QAT €t & 31 B, A & foIg Y& pRUT &

B) A 3R B aHT W&l & 31k B, A % fAT T FRUTAE &

C) A W& ¢, Afes B Wt 7t &

D) A 3R B Q1 & T §

59. 7Z15 & 7Z11 are two naturally occurring isotopes of an element Z. What is the
percentage of each isotope of Z, if the average atomic mass is 14?

A) 95%, 5% B) 80%, 20%

C) 75%, 25% D) 65%, 35%

TP dd Z F & WMIfdd BI F 8F a1 3MSAIE § - 12" & ;2" | Z F TP AT BT gfaerd

T ¥, 3R Z BT 3HAd IRHATY] g 14 §---

A) 95%, 5% B) 80%, 20%
C) 75%, 25% D) 65%, 35%
60. The number of sigma and pi-bonds in But-1-ene-3-yne are:
A)S5,5 B)7,3
C)8,2 D)6, 4
But-1-ene-3-yne # &1 31k UTs- du 61 H@AT §--

A)S5,5 B)7,3
C)8,2 D)6, 4

61. Match the following:

ACID-BASE THEORIES EXPLANATION

u. Primitive Theory p. Acids- Electron pair acceptors, Bases- Electron
pair donors

v. Arrhenius Theory q. Acids give H™ and bases give OH’

w. Lowry-Bronsted Theory r. Acid are sour, bases are bitter in taste

x. Lewis Theory s. Acids are proton donors and Bases are proton
acceptors
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A) u-r, v-q, W-p, X-S
B) u-r, v-s, w-q, X-p
C) u-r, v-q, w-s, X-p
D) u-r, v-s, w-p, x-q

A &1 e &Y

3 &R F fgia TET

u. gfadf fgia p. 37 ST SIS TNPBR P & 3R &R SR A A &
v. 3RefT 1 fagia q. 3771, H' 3R &R, OH a &

w.AA-aS BT g r. 37FA W& H @ Ud &R, Hd 8Id §

x. g9 & fagia s. 3771 W1 &d 8 31 &R Hiei R od §

A) u-r, v-q, W-p, X-S
B) u-r, v-s, w-q, x-p
C) u-r, v-q, w-s, X-p
D) u-r, v-s, w-p, x-q

62. Reaction: FeCl; + H,S - FeCl, + HCI + S, in this reaction:
A) H,S is reducing agent

B) FeCl; undergo oxidation

C) H,S acts as an oxidizing agent

D) FeCls acts as a reducing agent

mﬁiﬁﬁ?m : FCC13 + HQS > FCC12 +HCI1+ S ﬁ'

A) HyS Yl toie §

B)FeCl; T 3itaeiiasor gt 7T &

C)H,S 3iTaeftesoT Toie &
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63. Which of the following changes take place during the process of calcination of an
ore?

A) Thermal decomposition of the ore takes place.

B) The mass becomes porous.

C) Moisture and volatile impurities are removed

D) All of the above

frefafad ¥ @ o J uRad,3ra% & Fedid (calcination) P UfsFAT & AR BidT 82

A) 30%P BT A faeeT gar

B) G| SIRERT(porous) &1 SITAT §

O T 3R 3rfeR NW (volatile matter) &I T

D) 78 4 W

64. Use the following information and predict the pH of 10 M HCI:
i) The pH of a solution is defined as: pH=-log[H].

ii) Ionic product of water at 25°C =107,

iii) pH of pure water at 25° C = 7

A)8 B) Between 0 and 1
C) Between 6 & 7 D) Data is insufficient

fafafaa fdgsit 1 39T 3% 10° M HC1 T pH FATd B

i)fds<qt fsroT T pH= -log[H].

i) Ut &7 25° C W, Tonic product BT HA =107,

iiii) Q& U T pH, 25° C TR = 7

A)8 B) 0 3R | oA
C) 6 3R 7F A D)3 39T &

65. The properties, which increase on going down the groups :
A) Ionization energy & electronegativity

B) Atomic size and ionization energy

C) Electronegativity and atomic size

D) Metallic character and reducing power

77 7 q S G A, 31ad RO &6 T4 (group) A T BT a1 Tl &
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A)3Tl'q7ﬁ?b_{'UT m’f(lonization energy)?:ﬁ'\' a'g?ﬁ'qa@ﬂ?ﬁ?b_cﬂ (electronegativity)
B) URHTY] ATHR (Atomic size) 3R R Hat (Ionization energy)

C) dGAIFOTIHBAT (clectronegativity) 3R AT 3MBR (Atomic size)
D)drqg IR (Metallic character)é&ﬁ'\r i'g"'\q"F-R'UT &HdT (reducing power)

66. Arrange the following in increasing order of Group number in Modern Periodic
Table:

I. Chalcogens II. Pnicogens II1. Inert/Noble gases IV. Alkali

metals V. Alkaline Earth metals

VI. Halogens

A) HI<KV<IIKIKIV<VI

B) HI<V<IV<II<VI<I

C) IV<V<II<I<VI<III

D) V<IV<I<I<VI<IIL

77 @1 3myfie srad wRot & Ju &A1 & 98d §Y A A @G

I. Chalcogens TR IL. Pnicogens IEcame)

III. Inert/Noble gases fAfspa ¥

IV.Alkali metals Qﬁh_vﬁﬂ'l?jq V.Alkaline Earth metals &nﬂu 3ref YTdY VI.Halogens gl

A) HI<KV<IIKIKIV<VI

B) HI<V<IV<II<VI<I

C) IV<V<II<I<VI<III

D) V<IV<II<I<VI<III

67. Examine the following reactions:

1. NaOH(aq) + HCl(aq)é NaCl(aq) + HzO(]) AH;

II. % HySOq4 (aq) T KOH(aq)é P KzSO4(aq) + HzO(l) AH>,

III. CH3COOH(aq) + NaOH(aq) -> CH3COONa(aq) + H20(1) AHj;
Which among the following is true regarding the Heat of Neutralization (AH)?
A) |AH)| = |AH;| = |AH;|

B) |AH,|> |AH:|> |AH;|

C) |AH1 = |AH2| < |AH3|

D) |AH1 = ’AH2| > |AH3|

1 et fdafeansit 4 :

I. NaOH yy + HClay™> NaClg + Hy0y AH,
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II. % H2S04 (aq) + KOH(aq)9 ) KzSO4(aq) + H20(1) AHz
111. CH3COOH(aq) + NaOH(aq) > CH3COONa(aq) + HZO(]) AH3
T A BT AT B2 3RS0 HHT (AH) A=Y A TG | 2
A) |AH)| = |AH;| = |AH;|
B) ‘AH1| > |AH2| > |AH3|
C) |AH, = |AH,| < |AH;|
D) |AH1 = ’AH2| > |AH3|
68. The IUPAC name for the following compound is:
CH;CH,CH(CH3)CH,CH,COOH
A) 3-Methyl hexanoic acid B) 4-Methyl hexanoic acid
C) Heptanoic acid D) 4-Ethyl pentanoic acid
o &g AMffies ST IUPAC AW R -
CH;CH,CH(CH3)CH,CH,COOH
A) 3-Methyl hexanoic acid B) 4-Methyl hexanoic acid
C) Heptanoic acid D) 4-Ethyl pentanoic acid
69. Which of the following has maximum number of atoms?
A) 18g of H,O B) 18g of CO,
C) 18g of O, D) 18g of CHy4
= ¥ & fora aa 31fties WU & J@ §?
A) 189 H,0 B) 18 4H CO,
C) 18 UM O, D) 18 UTH CH,4

70. The average molecular mass of a sample of Air is:

(Composition of air sample by weight: N,= 80%, O,= 20%, other gases= negligible)
A) 28.8 g/mol B) 30 g/mol

C) 24.5 g/mol D) Can not be determined

qarg P b A BT 309d 3MUIfdd geawE (average molecular mass) B

&ve W 1Y BT R 9fdG2rd : No= 80%, 0,= 20%, 31T IAsT = A707)

A) 28.8 g/mol B) 30 g/mol

C) 24.5 g/mol D) TEl IaTaT ST HepeT |
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71. Which of the following is NOT in the list of seven basic SI units?

A) Metre B) Coloumb

C) Candela D) Mol

A o A B 91 9, T ST AR A A T8 &2

A) HlEX (Metre) B) geTH (ColoumB)
C) &8el (Candela) D) "I (Mol)

72. Consider the following quantities:

(P) Mass number

(Q) Average mass of a carbon atom in amu

(R) The charge of nucleus in coulomb

(S) Atomic Mass of a carbon — 12 in grams

Now choose the correct option:

A) Only (P) is whole number

B) Only (P) and (R) are whole numbers

C) Only (P) and (S) are whole numbers

D) Only (R) and (S) are whole numbers

A7 At Ay A -

(P) G&IHT F&AT (Mass number)

(Q)?FIEh U] BT amu ¥ 3ila gemE (Average mass of a carbon atom in amu)
(R) AITAYep T 3a2r P ¥ (The charge of nucleus in coulomB)

(S) PIE-2R BT UTH H 3MUTfAd WR (Atomic Mass of a carbon — 12 in grams)
A A AT SR BT A B -

A) Bad (P) € gof J=m &

B) %ad (P) 3iR (R) & quf Gieamd &

C) %4 (P) and (S) & quf FiEamd &)

D) %4e (R) and (S) & Yof WiEar &

73. Which of the following statement/s are correct.

(1) Metals are good conductors of electricity and their conductivity increases as the
temperature is lowered

(i1) Ionic solids are generally brittle.

(ii1) Phosphorous is stored in water.
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(iv) Metals are typically malleable and ductile due to large adhesive force that holds
the structure together.

A)I & Il only B) I & Il only
O) 11, 11, IV only D) I, II, III only
Y PP A B ITAE -

(i) YTV fagd &t Gerere § Td ST Yool dTIHT Hel J dedl 3

(ii) THTIGAT 31T 3 (lonic solids) ¥R (brittle) BTd &

(iii B IERT (Phosphorous) BI UL &6 e AUEId fHar SIar &)

(iv) 3THAR W YTY, malleable Td ductile BT & afds ITdhY ITAT BT adhesive T T P I@dT I
A) 13RI B) %ad [ 3R 1I

C) ¥a 11, 111 3R IV D) &ae I, 11 3R 111

74. Which one of the following is a correct statement?

(P) Ice provides more cooling effect than water at 273 K

(Q) Evaporation of a liquid causes cooling

(R) Increase of Pressure decreases the separation between the particles of matterd

A)Pand Q B)Pand R
C)QandR D)P,Qand R
faYdedsaraa .

(P) 9% BT 273 K WR 2fidei THTd 9Tt Y 3r3& 31feres gt &

(Q) &&d & ars A 2fde(cooling) BT ¥ |

(R) mm\qm(matter) *Wﬁ%ﬁﬂﬁﬁﬂ?ﬁ% I

A)P3R Q B)P 3R R
C)Q3R R D)P, Q3R R
75. Which of the following gas is a CFC that is used in refrigerator?
A) Methane B) Ammonia
C) Carbon dioxide D) Freon

77 & & 17 A1 1 v CFC § S ¥ihoive § 39aT &6l 11dl & 2

A) wq (Methane) B)Hﬁﬁ'ﬂT (Ammonia)
C) BIE STHITTS (Carbon dioxide) D) I3 (Freon)
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